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$> ./extl abc.txt ch0l phonebook.bin
abc.txt sl gigel user: rwx group: r-- other: r--
ch01 ClalEg| user: rwx group: r-- other: r--
phonebook.bin S mwo| EXYSIK| Q& L|CY.
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$> ./ext2 ch03

1234 Cl|HEZ user: rwx group: r-- other: r--
.. 5678 ClaEg| user: rwx group: r-- other: r--
ext?2 3456 Uetm user: rwx group: r-- other: r--
src 5672 ClaEg| user: rwx group: r-- other: r--
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1 #include <stdio.h>

2 #include <stdlib.h>

3 #include <sys/types.h>

4 #include <sys/stat.h>

5

6 #define DATA FILE NAME "unix.txt"

7 #define MODE SIZE 9

8 #define MODE STR SIZE 10

9
10 static short octarray[MODE SIZE] = {
11 0400, 0200, 0100, 0040, 0020, 0010, 0004, 0002, 0001 1};
12
13 static char perms[MODE STR SIZE] = "rwxrwxrwx";
14
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15 main ()
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struct stat stat buf;

int i;
char mode str[MODE STR SIZE];

if (Stat(DATA_FILE_NAME, &Stat_buf) < 0) {
perror (DATA FILE NAME) ;
exit (1) ;

for(i = 0; 1 < MODE_SIZE; i++) {
if (stat buf.st mode & octarrayl[i]) {
mode str([i] perms[i];

}

else {

mode str([i] ;

}
mode str[MODE STR SIZE - 1]

'\O';

printf ("mode of %s : %$s\n", DATA FILE NAME, mode str);




